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Geometry 22: 10.3 — Area of Regular Polygons Practice

1. Each regular polygon has radii and apothem as shown, Find the measure of each numbered angle.
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2. Find the area of each regular polygon with the given apothem « and side length s.
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3. Find the approximate perimeter of a regular polygon if a="9 mand A = 259.2 m?,
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4. Find the length of each side of a regular n-gon if a = 80 feet, n = 20, and A = 20,000 square feet.
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5. A stop sign is a regular octagon, Each side of the sign is 12.6 in, long. The area of the stop sign is 770 in2.
What is the length of the apothem to the nearest whole number? T T
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6. Find the area of each regular polygon. Round your answer to the nearest tenth,
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7. Your math teacher draws a regular hexagon with a circle circumscribed around it. The radius of the circle
is 5 m. To the nearest tenth, what is the arca of the hexagon?

RN o= o SY3 | |
- A 1k SO
: w7 958 30 37.5V3
&0
=

. (, / [ e - )
o @/rqg "‘((73,0 ’,HZ/
8. Find the area of each regular polygon with the given radius or apothem. If your answer is not an integer,
leave it in simplest radical form.
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